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1問１０点
小数の計算　四則混合②　必要なときは筆算もかきましょう。

① 4.8 ÷

0 8

② 2.5 ÷ 0.5

＝ 6 2 5 ÷ 0 5

0.8 ＋

（C)TERRAS Co,.Ltd

9 0

0

3

1 0

－ 6

9 0

2 7 0

2

3.8

2 9

4 5 ） 2 7 9 0

6

8

⑤ 6 ＋ 2 × 2.9 ＝

6

⑥ 27.9 ÷ 4.5 ＝

2 0 8

1 0 4

0

× 4 8 2

8 7

0

11.8

7 22 6

＋ ） 7 2 80 8 0 7

0 41

2 8

2 8

6 7 24 9 － 2 3 ＝ 2

③ － × ④ （72 ＋12.48

6 ＋ 4 ＝ 1 0 ＝

0.8） ÷ 0.7 ＝ 104

5 × 7 3 5

グレード 5 ― 14 点

計算
エース

　
　
月
　
　
日

名
　
前年

1 2 4 8

8

× 2 ＋ 5

5 8 1 1
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・ ・ ・ ・
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・

・

・

・

・

・

・

・
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・

・

・

・



（C)TERRAS Co,.Ltd

＝

6÷

2 ÷ 6

＝ 2

－ 8 7 ）（ 2 0 7

＝ 1

2

÷ 5

（ 1 3 5 － 3 5 ） ÷ 5

÷ 5 － 3.5

＝ 1 0 ÷ 5

13.5⑨

⑧ 2.6 × 7 ＋ 3.4 × 7

（ 2 6 ＋ 3 4 ） × 7

＝ 2

9 ＋ 5.8 × 9 ＝ 90

＝ 42

⑦ 4.2 ×

＝ 1 0 × 9

（ 4 2 ＋ 5 8 ） × 9

＝ 9 0

＝ 4 2

＝ 6 × 7

＝ 2

⑩ ÷ 6 － 8.7 ÷ 620.7

・ ・

・・

・ ・

・ ・


